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: Vocabulary |
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes |
| each sentence. Then mark the correct choice on your answer sheet. |

1- He accused the environmentalists of tryingto ................. public opinion in their favor.
1) summon 2) convoke 3) manipulate 4) rotate

2- He asserted that there’snota ................. of truth in the story.
1) vestige 2) relic 3) forte 4) scar

3-  The chairperson proudly announced that the keynote speaker at the conference would be
|1 SR primatologist Jane Goodall,
1) eclectic 2) eminent 3) empirical 4) expedient

4-  According to the experts, genetic ................. is probably the most important factor in
determining a person’s health,
1) fragmentation 2) germination 3) reliance 4) inheritance

5-  Plant cell and tissue culture ................ the growth and maintenance of plant tissues ina
nutrient medium.
1) approximates to  2) meddles in 3) involves 4) spreads

6- If the population continues to expand, Ehrlich argues, mass starvation and ecological
disaster willbe the ................... consequence.
1) introverted 1) inevitable T indiseriminate 4Y insatiable

7-  He’s being kept in jail until the trial so that he can’t ................. any of the witnesses,
1} intimidate 2) vanish 3) discard 4) represent

8-  The operation of the free market maintains an ................... between supply, demand
and price.
1) assent 2) inspection 1) affinity 4 equilibrium

9-  Before you take calculus, you need more thana ................. knowledge of algebra,
1) circumspect 2} mutual 3) rudimentary 4} transient

10- In 1784 Benjamin Franklin first suggested daylight savings time as a means of cutting
111}, S consuming candles,

_1yof 1) on

| PART B: Cloze Test |
Directions: Read the following passage and decide which choice (1), (2), (3), or |
| (4) best fits each space. Then mark the correct choice your answer sheet,

Deficiency diseases are usually associated with lack of vitamins or minerals. The effects of a
vitamin or mineral deficiency on the body depend on the function of the particular nutrient
(11) ----- ----, For example, vitamin A is important for good vision, and severe deficiency of
this vitamin may cause blindness. (12) ------- some vitaming and minerals have many functions,
(13} ------- nutritional deficiencies can therefore have wide-ranging effects on health.

Diets that lack a wide variety of foods may result in vitamin deficiency diseases. For
example, in countries (14) ---------- eat maize as the staple food and only few other foods, diets
may lack niacin, a B vitamin. Such diets may cause pellagra, a deficiency disease
(15) ------==--- by dermatitis, diarrhea, and dementia.

11- 1) lacking 2) to lack 1) is lacking 4) lacked

12- 1) Hence 2) However 3) Because 4) Then

13- 1) which prolonged = 2} they prolong 3) to be prolonging  4) prolonged

14- 1) where people 2) in those people 3) that their people  4) there people

15- 1) characterizing 2) characterized 3) is characterized 4) they characterize



i gl (il 5 (990 3T (et Colw &g S g

¥ asie 603A el g coges 1l

[ Re

Directions: Read the following passages and decide which choice (1), (2), (3) or (4) best fits
| each space. Then mark the correct choice on your answer sheet.

ading Comprehension

PASSAGE 1:

[t has often been argued that the Qur'an is not only the first book, and the highest linguistic
achievement, of the Arabic language, but that it is also Muhammad's strongest argument
against those who doubted his Message. The question that needs to be addressed here concerns
the reason why a holy book, a composition of language, should be hailed as Islam’s (and
Muhammad's) strongest argument. The point has sometimes been made that other prophets
had more tangible miracles. In the case of Mubhammad, however, the miracle was not
comparable to Moses' staff or Christ's healing powers, but was simply the expression in
language of the Qur'an.

To understand why Muhammad's strongest argument or miracle was a book, the Holy Qur'an,
it is necessary to understand the role language and linguistic composition played in the lives of
the pre-Islamic Arabs. It is also important to understand the nature of the Arabic language itself
during the pre-Islamic period. This understanding will help to show why the revelation of the
Qur'an through Muhammad found attentive ears among his contemporaries, who not only were
articulate users of the language but held those skilled in the arts of linguistic composition in
high esteem.

16- What does the passage mainly discuss?

1) Highest Linguistic Achievement of Arabic

2) Miracles of Moses, Christ, and Muhammad

3) Arabic in the Lives of the Pre-Islamic Arabs

4) The Qur'an Muhammad's Strongest Argument

17- The word argumentin the second line is closest in meaning to - :

1) disagreement 2} quarrel 3) reasoning 4) subject matter

18- According to the passage, Muhammad's miracle is that of Moses and Christ.
1) touchable like 2) not comparable to

3) more or less similar to 4) not abstract in the same way as

19- Why was the Holy Qur'an Muhammad's strongest miracle?

1) Because language and language composition did not play a role at that time.

2) Because language and language composition had a significant role in the lives of Arabs.

3) Because Muhammad was the last messenger of God as compared with Moses and Christ.

4) Because Muhammad was not the last messenger of God as compared with Moses and
Christ.

PASSAGE 2:

Before the rise of Islam, Arabic was mainly a spoken language with an oral literature of
elaborate poetry and, to a lesser extent, prose. Writing had not yet fully developed and
memaorization was the most common means of preserving the literature. Both poetry and prose
in the pre-Islamic era dealt with a rather limited range of topics which included in the case of
poetry praise, eulogy (panegyric), defamation, and love, and in the case of prose superstition,
legends, parables, and wisdom tales.

Pre-Islamic Arabs took great pride in their language and in articulate and accurate speech, the
latter being one of the main requisites for social prominence.

WM““Ug)éM)'wu)UQhW‘g)b'ue}?."
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20- Which of the following is NOT true of the Arabic language before the rise of Islam?
1) It was not yet fully developed.

2) It mainly had an oral literature.

3) Its literature was basically centered on poetry.

4) Its literature was mainly preserved through memorization.
21- What does the word enlogy in line 5 mean?

1) criticizing 2) defamation 3) praise 4) slander
22- According to the passage, articulate and accurate speech was .

1) the only requisite for marriage

2) one of the major requirements of social prestige

3) the only important too! 1o take advantage of others

4) one of the most important means of exploiting others

PASSAGE 3:

The revelation of the Qur'an in Arabic set the scene for a unique and lasting relationship
between the language and 1slam. On the one hand, Arabic provided a very effective medium
for communicating the message of the religion. On the other hand, Islam helped Arabic to
acquire the universal status which it has continued to enjoy since the Middle Ages, émerging as
one of the principal world languages. It has been argued that Arabic has not simply remained
'ancillary to Islam' but that it has also been significant as a means of 'cultural and national
revival in the Arabic-speaking countries! Arabic is @ mich and expressive language and has
played an important role in the cultural preservation of the Arabic-speaking people. However,
without the bond it has had with Islam, Arabie would probably not have undergone the interal
revolution it did, nor expanded beyond the borders of the Arabian Peninsula with such speed
and magnitude,

The relationship of Islam and the Quran to Arabic involves more than just the use of a
language 10 communicate a divine message. There are a number of factors which set this
relationship apart from that which exists between other holy books and the languages in which
they appeared, for Arabic has come to be closely associated with Islam, and in this way has
acquired a semi-official status. It is implicit that anyone professing Islam cannot ignore the role
Arabic plays in his faith. Embracing 1slam, therefore, entails exposure 1o, and familiarity with,
the Arabic language. Such familiarity is necessitated by the fact that memorization and
recitation of Qur'anic verses in their original language is necessary for the performance of the
daily rituals. Other holy books may have had an impact on the languages in which they
originally appeared, but the impact that Islam and the Qur'an have had on Arabic appears to be
unigue in its extent and durability. It has often been the case that a holy book appears in a given
language and is then translated into other languages, in which it continues to be read and
recited during the performance of rituals, but, in the case of the Qur'an, although it has been
translated into many languages, these translations cannot replace the original language as a
language of worship, which continues to be Arabic for all Muslims, native speakers and
others.

Other holy books also came to be associated with specific languages, such as the Torah with
Hebrew, and, perhaps less intimately, the New Testament with Greek and Latin. However, the
nature of the relationship between the Qur'an and Arabic is still unique for reasons to be given
below.

23- What does the passage mainly discuss?
1) Relation between Islam and Arabic 2) Effective Medium for Communication
3) Role Played by Arabic in Muslims' faith  4) Revival in the Arabic-speaking Countries

M}MQ“U’)GM}‘@“)UQEW"}L"ug)?i
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24- What is the central idea one can infer from the first paragraph?

1) Islam and Arabic helped each other

2) Islam helped Arabic to gain the universal status

3) Arabic helped Islam to communicate the message of the religion

4) Arabic and Islam emerged as the principal world phenomena in the Middle Ages

25- The sentence Arabic has not simply remained ancillary to Islam in line 5 implicitly means

1) Only Arabic backed up the religion of Islam.

2) Only Islam backed up the Arabic language.

3) Arabic also supported the religion of Islam.

4) Islam also supported the Arabic language.

26- According to the passage, the Arabic language -

1) gained a semi-official status due to its perfect structure

2) was only used to communicate a divine message

3) was not just a means to express God's message

4) played a minor role in Muslims' faith

27- It is clearly mentioned in the passage that those who accepted Islam —---eeeemeeeeems -
1) did not need to learn the Arabic language

2) had to be familiar with the Arabic language

3) did not need to perform their rituals in Arabic

&) had to perform their religious rituals in their own native languages

28- One can infer from the passage that the .

1) Torah did not have any impact on the language in which it originally appeared

2) Bible did not have any impact on the language in which it originally appeared

3) Qur'an's effect upon the Arabic language is incomparable

4) Gospel's effect upon the Latin language is incomparable

29- It can be inferred from the passage that the translated language of the Qur'an —————-—-.
1) can be used to understand the divine message

2) cannot be used to understand it better like other holy books

3) can be substituted for the original language as a language of worship

4) cannot be substituted for the original language to understand the divine message
30- The author finally concludes in the last paragraph that .

1 other holy books are not coupled with specific languages

2 other holy books are also associated with particular languages

3) the relationship between the Qur'an and Arabic is similar to that between the Torah and
Hebrew

4) the relationship between the Qur'an and Arabic is not the same as that between the Bible and
Latin
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